Received: 14th September 2019 Revised: 17th December 2019 Accepted: 21st January 2020

Growth and Complex Oscillation of Differential Polynomials Generated by Solutions of Differential Equations

Benharrat Belaïdi, Abdallah El Farissi

Department of Mathematics, Laboratory of Pure and Applied Mathematics, University of Mostaganem (UMAB), B. P. 227 Mostaganem, Algeria

Abstract. In this paper, we investigate the fixed points and the hyper order of the differential polynomial $g_f = d_2 f'' + d_1 f' + d_0 f$, where $d_0(z), d_1(z), d_2(z)$ are entire functions that are not all equal to zero with $\rho(d_j) < \infty$ (j = 0, 1, 2) generated by solutions of the differential equation

$$f'' + A_1(z) f' + A_0(z) f = F,$$

where $A_1(z)$, $A_0(z) \ (\neq 0)$, F are entire functions of finite order. Because of the control of differential equation, we can obtain some precise estimates of their hyper order and fixed points. We also investigate the relation between infinite order solutions of higher order linear differential equations with entire coefficients and finite order entire functions.

AMS Subject Classifications: 34M10, 30D35.

Keywords: Differential polynomials; Linear differential equations; Entire solutions; Hyper order; Exponent of convergence of the sequence of distinct zeros; Hyper exponent of convergence of the sequence of distinct zeros.

1. Introduction and main results

Throughout this paper, we assume that the reader is familiar with the fundamental results and the standard notations of the Nevanlinna's value distribution theory (see [7], [9], [11], [13]). In addition, we will use $\lambda(f)$ and $\overline{\lambda}(f)$ to denote respectively the

E-mail addresses: belaidibenharrat@yahoo.fr (B. Belaïdi), elfarissi.abdallah@yahoo.fr (A. El Farissi)

^{*}Corresponding author.

exponents of convergence of the zero-sequence and the sequence of distinct zeros of a meromorphic function f, $\rho(f)$ to denote the order of growth of f. A meromorphic function $\varphi(z)$ is called a small function with respect to f(z) if $T(r, \varphi) = o(T(r, f))$ as $r \to +\infty$ except possibly a set of r of finite linear measure, where T(r, f) is the Nevanlinna characteristic function of f. In order to express the rate of growth of meromorphic solutions of infinite order, we recall the following definition.

Definition 1.1 ([4], [13]) Let f be a meromorphic function. Then the hyper order $\rho_2(f)$ of f(z) is defined by

$$\rho_2(f) = \lim_{r \to +\infty} \frac{\log \log T(r, f)}{\log r}.$$
(1.1)

Remark 1.1. If f is an entire function, then the hyper order $\rho_2(f)$ of f(z) is defined by

$$\rho_2(f) = \lim_{r \to +\infty} \frac{\log \log T(r, f)}{\log r} = \lim_{r \to +\infty} \frac{\log \log \log M(r, f)}{\log r},$$

where $M(r, f) = \max_{|z|=r} |f(z)|$.

To give the precise estimate of fixed points, we define:

Definition 1.2. ([4], [10], [12]) Let f be a meromorphic function and let $z_1, z_2, ...$ $(|z_j| = r_j, 0 < r_1 \le r_2 \le ...)$ be the sequence of the fixed points of f, each point being repeated only once. The exponent of convergence of the sequence of distinct fixed points of f(z) is defined by

$$\overline{\tau}(f) = \inf \left\{ \tau > 0 : \sum_{j=1}^{+\infty} |z_j|^{-\tau} < +\infty \right\}.$$

Clearly,

$$\overline{\tau}\left(f\right) = \lim_{r \to +\infty} \frac{\log \overline{N}\left(r, \frac{1}{f-z}\right)}{\log r},\tag{1.2}$$

where $\overline{N}(r, \frac{1}{f-z})$ is the counting function of distinct fixed points of f(z) in $\{z : |z| < r\}$.

Definition 1.3. ([4], [8], [10], [12]) Let f be a meromorphic function. Then $\overline{\lambda}_2(f)$, the hyper exponent of convergence of the sequence of distinct zeros of f(z) is defined by

$$\overline{\lambda}_2(f) = \lim_{r \to +\infty} \frac{\log \log \overline{N}\left(r, \frac{1}{f}\right)}{\log r},\tag{1.3}$$

and $\overline{\tau}_{2}(f)$, the hyper exponent of convergence of the sequence of distinct fixed points of f(z) is defined by

$$\overline{\tau}_2(f) = \lim_{r \to +\infty} \frac{\log \log \overline{N}\left(r, \frac{1}{f-z}\right)}{\log r}.$$
(1.4)

Consider the second order linear differential equation

$$f^{''} + A_1(z) f^{'} + A_0(z) f = F,$$
(1.5)

where $A_1(z)$, $A_0(z) \ (\neq 0)$, F are transcendental entire functions with finite order. Many important results have been obtained on the fixed points of general transcendental meromorphic functions for almost four decades (see [14]). However, there are few studies on the fixed points of solutions of differential equations, even second order linear differential equations

$$f^{''} + A(z) f = 0, (1.6)$$

$$f'' + A(z)f = F, (1.7)$$

where A(z) and $F(z) \neq 0$ are entire functions. It was in the year 2000 that Z. X. Chen first pointed out the relation between the exponent of convergence of distinct fixed points and the rate of growth of solutions of equations (1.6), (1.7) and have obtained the following results.

Theorem A. [4] For all non trivial solutions f of (1.6), the following hold: (i) If A is a polynomial with deg $A = n \ge 1$, then we have $\overline{\tau}(f) = \rho(f) = \frac{n+2}{2}$. (ii) If A is transcendental and $\rho(A) = \rho < +\infty$, then we have $\overline{\tau}(f) = \rho(f) = +\infty$ and $\overline{\tau}_2(f) = \rho_2(f) = \rho$.

Theorem B. [4] Suppose that F(z) and A(z) have finite order and $F(z) \not\equiv zA(z)$. Then for all non trivial solutions f of (1.7), the conclusions of Theorem A hold except at most for one solution f_0 .

We know that a differential equation bears a relation to all derivatives of its solutions. Hence, linear differential polynomials generated by its solutions must have special nature because of the control of differential equations. The first main purpose of this paper is to study the growth, the oscillation and the relation between small functions and differential polynomials generated by solutions of the second order linear differential equation (1.5).

Before we state our results, we denote by

$$\alpha_1 = d_1 - d_2 A_1, \ \beta_0 = d_2 A_0 A_1 - (d_2 A_0)' - d_1 A_0 + d_0', \tag{1.8}$$

$$\alpha_{0} = d_{0} - d_{2}A_{0}, \quad \beta_{1} = d_{2}A_{1}^{2} - (d_{2}A_{1})' - d_{1}A_{1} - d_{2}A_{0} + d_{0} + d_{1}', \tag{1.9}$$

$$h = \alpha_1 \beta_0 - \alpha_0 \beta_1 \tag{1.10}$$

and

$$\psi(z) = \frac{\alpha_1 \left(\varphi' - (d_2 F)' - \alpha_1 F\right) - \beta_1 \left(\varphi - d_2 F\right)}{h},$$
(1.11)

where $A_1(z)$, $A_0(z)$, F, $d_i(j = 0, 1, 2)$ and φ are entire functions with finite order.

Theorem 1.1. Let $A_1(z)$, $A_0(z) \neq 0$, F be entire functions of finite order. Let $d_0(z)$, $d_1(z)$, $d_2(z)$ be entire functions that are not all equal to zero with $\rho(d_j) < \infty$ (j = 0, 1, 2) such that $h \neq 0$. Let $\varphi(z)$ be an entire function with finite order such that $\psi(z)$ is not a solution of (1.5). If f is an infinite order solution of (1.5) with $\rho_2(f) = \rho$, then the differential polynomial $g_f = d_2 f'' + d_1 f' + d_0 f$ satisfies

$$\overline{\lambda}\left(g_{f}-\varphi\right)=\rho\left(g_{f}\right)=\rho\left(f\right)=\infty,\tag{1.12}$$

$$\overline{\lambda}_2 \left(g_f - \varphi \right) = \rho_2 \left(g_f \right) = \rho_2 \left(f \right) = \rho. \tag{1.13}$$

Theorem 1.2. Let $A_1(z)$, $A_0(z) \ (\neq 0)$, $F \neq 0$ be entire functions of finite order such that all solutions of equation (1.5) are of infinite order. Let $d_0(z)$, $d_1(z)$, $d_2(z)$ be entire functions that are not all equal to zero with $\rho(d_j) < \infty$ (j = 0, 1, 2) such that $h \neq 0$. Let φ be a finite order entire function. If f is a solution of equation (1.5) with $\rho_2(f) = \rho$, then the differential polynomial g_f satisfies (1.12) and (1.13).

Applying Theorem 1.2 for $\varphi(z) = z$, we obtain the following result.

Corollary 1.1. Under the assumptions of Theorem 1.2, if f is a solution of equation (1.5) with $\rho_2(f) = \rho$, then the differential polynomial g_f has infinitely many fixed points and satisfies $\overline{\tau}(g_f) = \rho(g_f) = \rho(f) = \infty$, $\overline{\tau}_2(g_f) = \rho_2(g_f) = \rho_2(f) = \rho$.

Theorem 1.3. Let $A_1(z)$, $A_0(z)$, F, $d_0(z)$, $d_1(z)$, $d_2(z)$, φ satisfy the hypotheses of Theorem 1.1, such that $A_1(z)$ or $A_0(z)$ is transcendental, then equation (1.5) has solution f that g_f satisfies (1.12).

In the following, we obtain a result which is an example of Theorem 1.2.

Corollary 1.2. Let $P(z) = \sum_{i=0}^{n} a_i z^i$ and $Q(z) = \sum_{i=0}^{n} b_i z^i$ be nonconstant polynomials where a_i , b_i (i = 0, 1, ..., n) are complex numbers, $a_n b_n \neq 0$ such that $\arg a_n \neq \arg b_n$ or $a_n = cb_n$ (0 < c < 1) and $A_j(z) (\neq 0)$ (j = 0, 1) be entire functions with $\rho(A_j) < n$ (j = 0, 1). Let $d_0(z), d_1(z), d_2(z)$ be entire functions that are not all equal to zero with $\rho(d_j) < n$ (j = 0, 1, 2), and let $\varphi(z) \neq 0$ be an entire function with finite order. If $f(z) \neq 0$ is a solution of the differential equation

$$f'' + A_1(z) e^{P(z)} f' + A_0(z) e^{Q(z)} f = 0, (1.14)$$

then the differential polynomial $g_f = d_2 f^{\prime\prime} + d_1 f^{\prime} + d_0 f$ satisfies $\overline{\lambda} (g_f - \varphi) = \rho (g_f) = \rho (f) = \infty$ and $\overline{\lambda}_2 (g_f - \varphi) = \rho_2 (g_f) = \rho_2 (f) = n$.

The second main purpose of this paper is to investigate the relation between infinite order solutions of higher order linear differential equations with entire coefficients and finite order entire functions. We obtain the following result.

Theorem 1.4. Let $A_0, A_1, ..., A_{k-1}, F$ be finite order entire functions, and let φ be a finite order entire function which is not a solution of the equation

$$f^{(k)} + A_{k-1}f^{(k-1)} + \dots + A_1f' + A_0f = F.$$
(1.15)

If f is an infinite order solution of equation (1.15) with $\rho_2(f) = \rho$, then we have $\overline{\lambda}(f-\varphi) = \rho(f) = \infty$ and $\overline{\lambda}_2(f-\varphi) = \rho_2(f) = \rho$.

Applying Theorem 1.4 for $\varphi(z) = z$, we obtain the following result.

Corollary 1.3. Let A_0 , A_1 , ..., A_{k-1} , F be finite order entire functions such that $zA_0 + A_1 \not\equiv F$. Then every infinite order solution f of equation (1.15) with $\rho_2(f) = \rho$ has infinitely many fixed points and satisfies $\overline{\tau}(f) = \rho(f) = \infty$, $\overline{\tau}_2(f) = \rho_2(f) = \rho$.

In the following, we obtain a result which is an example of Theorem 1.4.

Corollary 1.4. Let $P_j(z) = \sum_{i=0}^n a_{i,j} z^i$ (j = 0, ..., k - 1) be nonconstant polynomials where $a_{0,j}, ..., a_{n,j}$ (j = 0, ..., k - 1) are complex numbers such that $a_{n,j}a_{n,0} \neq 0$ (j = 1, ..., k - 1), let $A_j(z)$ $(\neq 0)$ (j = 0, ..., k - 1) be entire functions. Suppose that $\arg a_{n,j} \neq \arg a_{n,0}$ or $a_{n,j} = ca_{n,0}$ (0 < c < 1) (j = 1, ..., k - 1), $\rho(A_j) < n$ (j = 0, ..., k - 1). Let $\varphi \neq 0$ be a finite order entire function. Then every solution $f(z) \neq 0$ of the equation

$$f^{(k)} + A_{k-1}(z) e^{P_{k-1}(z)} f^{(k-1)} + \dots + A_1(z) e^{P_1(z)} f' + A_0(z) e^{P_0(z)} f = 0, \quad (1.16)$$

where $k \ge 2$, satisfies $\overline{\lambda}(f - \varphi) = \rho(f) = \infty$ and $\overline{\lambda}_2(f - \varphi) = \rho_2(f) = n$. In particularly every solution $f(z) \ne 0$ of equation (1.16) has infinitely many fixed points and satisfies $\overline{\tau}(f) = \rho(f) = \infty$, $\overline{\tau}_2(f) = \rho_2(f) = n$.

Remark 1.2. In Theorem 1.1 and Theorem 1.2, if we don't have the condition $h \neq 0$, then the differential polynomial can be of finite order. For example if $d_2(z) \neq 0$ is a finite order entire function and $d_0(z) = A_0 d_2(z)$, $d_1(z) = A_1 d_2(z)$, then we have $h \equiv 0$ and $g_f = d_2(z) F$ is of finite order.

2. Auxiliary Lemmas

Lemma 2.1. (see [6, p. 412]). Let the differential equation

$$f^{(k)} + a_{k-1}f^{(k-1)} + \dots + a_0f = 0$$
(2.1)

be satisfied in the complex plane by the linearly independent meromorphic functions $f_1, f_2, ..., f_k$. Then the coefficients $a_{k-1}, ..., a_0$ are meromorphic in the plane with the following properties:

$$m(r, a_j) = O\left\{\log\left[\max\left(T(r, f_s) : s = 1, ..., k\right)\right]\right\} \quad (j = 0, ..., k - 1).$$
(2.2)

Lemma 2.2. Suppose that $A_0, A_1, ..., A_{k-1}, F \neq 0$ are meromorphic functions with at least one A_s $(0 \leq s \leq k-1)$ being transcendental. If all solutions of

$$f^{(k)} + A_{k-1}f^{(k-1)} + \dots + A_1f' + A_0f = F$$
(2.3)

are meromorphic, then (2.3) has an infinite order solution.

Proof. Since all the solutions of (2.3) are meromorphic, all the solutions of the corresponding homogeneous differential equation

$$f^{(k)} + A_{k-1}f^{(k-1)} + \dots + A_1f' + A_0f = 0$$
(2.4)

of (2.3) are meromorphic. Now assume that $\{f_1, ..., f_k\}$ is a fundamental solution set of (2.4). Then by Lemma 2.1, we have for j = 0, ..., k - 1

$$m(r, A_j) = O\left\{\log\left[\max\left(T(r, f_s) : s = 1, ..., k\right)\right]\right\}.$$
(2.5)

Since A_s is transcendental, at least one of $f_1, ..., f_k$ is of infinite order of growth. Suppose f_1 satisfies $\rho(f_1) = \infty$.

If f_0 is a solution of (2.3), then every solution f of (2.3) can be written in the form

$$f = C_1 f_1 + C_2 f_2 + \dots + C_k f_k + f_0, (2.6)$$

where $C_1, C_2, ..., C_k$ are arbitrary constants. If $\rho(f_0) = \infty$, then Lemma 2.2 holds. If $\rho(f_0) < \infty$, then $f = f_1 + f_0$ is a meromorphic solution of (2.3) and $\rho(f) = \infty$.

Lemma 2.3. [5] Let $A_0, A_1, ..., A_{k-1}, F (\neq 0)$ be finite order meromorphic functions. If f is a meromorphic solution with $\rho(f) = +\infty$ of equation (2.3), then $\overline{\lambda}(f) = \lambda(f) = \rho(f) = +\infty$.

Lemma 2.4. [2] Let $A_0, A_1, ..., A_{k-1}, F (\neq 0)$ be finite order meromorphic functions. If f is a meromorphic solution of equation (2.3) with $\rho(f) = +\infty$ and $\rho_2(f) = \rho$, then f satisfies $\overline{\lambda}_2(f) = \lambda_2(f) = \rho_2(f) = \rho$.

Growth and Complex Oscillation of Differential Polynomials

Lemma 2.5. Let $A_1(z)$, $A_0(z) \ (\not\equiv 0)$, F be entire functions of finite order. Let $d_0(z)$, $d_1(z)$, $d_2(z)$ be entire functions that are not all equal to zero with $\rho(d_j) < \infty$ (j = 0, 1, 2) such that $h \neq 0$, where h is defined in (1.10). If f is an infinite order solution of (1.5) with $\rho_2(f) = \rho$, then the differential polynomial $g_f = d_2 f'' + d_1 f' + d_0 f$ satisfies

$$\rho(g_f) = \rho(f) = \infty, \ \rho_2(g_f) = \rho_2(f) = \rho.$$
(2.7)

Proof. Suppose that f is a solution of equation (1.5) with $\rho(f) = \infty$ and $\rho_2(f) = \rho$. Substituting $f'' = F - A_1 f' - A_0 f$ into g_f , we get

$$g_f - d_2 F = (d_1 - d_2 A_1) f' + (d_0 - d_2 A_0) f.$$
(2.8)

Differentiating both sides of equation (2.8) and replacing $f^{''}$ with $f^{''} = F - A_1 f^{'} - A_0 f$, we obtain

$$g'_{f} - (d_{2}F)' - (d_{1} - d_{2}A_{1})F = \left[d_{2}A_{1}^{2} - (d_{2}A_{1})' - d_{1}A_{1} - d_{2}A_{0} + d_{0} + d'_{1}\right]f' + \left[d_{2}A_{0}A_{1} - (d_{2}A_{0})' - d_{1}A_{0} + d'_{0}\right]f.$$
(2.9)

Then by (1.8), (1.9), (2.8) and (2.9), we have

$$\alpha_1 f' + \alpha_0 f = g_f - d_2 F, \tag{2.10}$$

$$\beta_1 f' + \beta_0 f = g'_f - (d_2 F)' - (d_1 - d_2 A_1) F.$$
(2.11)

Set

$$h = \alpha_1 \beta_0 - \alpha_0 \beta_1 = (d_1 - d_2 A_1) \left(d_2 A_0 A_1 - (d_2 A_0)' - d_1 A_0 + d'_0 \right)$$
$$- (d_0 - d_2 A_0) \left(d_2 A_1^2 - (d_2 A_1)' - d_1 A_1 - d_2 A_0 + d_0 + d'_1 \right).$$
(2.12)

By $h \neq 0$ and (2.10) - (2.12), we obtain

$$f = \frac{\alpha_1 \left(g'_f - (d_2 F)' - \alpha_1 F \right) - \beta_1 \left(g_f - d_2 F \right)}{h}.$$
 (2.13)

If $\rho(g_f) < \infty$, then by (2.13) we get $\rho(f) < \infty$ and this is a contradiction. Hence $\rho(g_f) = \infty$.

Now, we prove that $\rho_2(f) = \rho$. By (2.8) we have $\rho_2(g_f) \leq \rho_2(f)$ and by (2.13) we get $\rho_2(f) \leq \rho_2(g_f)$. This yields $\rho_2(g_f) = \rho_2(f) = \rho$.

Lemma 2.6. [1] Let $P_j(z) = \sum_{i=0}^n a_{i,j} z^i$ (j = 0, ..., k - 1) be nonconstant polynomials where $a_{0,j}, ..., a_{n,j}$ (j = 0, ..., k - 1) are complex numbers such that $a_{n,j}a_{n,0} \neq 0$

(j = 1, ..., k - 1), let $A_j(z) \ (\not\equiv 0)$ (j = 0, ..., k - 1) be entire functions. Suppose that $\arg a_{n,j} \neq \arg a_{n,0}$ or $a_{n,j} = ca_{n,0} \ (0 < c < 1) \ (j = 1, ..., k - 1)$, $\rho(A_j) < n \ (j = 0, ..., k - 1)$. Then every solution $f(z) \not\equiv 0$ of the equation

$$f^{(k)} + A_{k-1}(z) e^{P_{k-1}(z)} f^{(k-1)} + \dots + A_1(z) e^{P_1(z)} f' + A_0(z) e^{P_0(z)} f = 0, \quad (2.14)$$

where $k \geq 2$, is of infinite order and $\rho_2(f) = n$.

Lemma 2.7. [3] Let $P(z) = \sum_{i=0}^{n} a_i z^i$ and $Q(z) = \sum_{i=0}^{n} b_i z^i$ be nonconstant polynomials where a_i, b_i (i = 0, 1, ..., n) are complex numbers, $a_n b_n \neq 0$ such that $\arg a_n \neq \arg b_n$ or $a_n = cb_n$ (0 < c < 1). We denote index set by

$$\Lambda = \{0, P, Q, 2P, P + Q\}.$$
(2.15)

If $H_j (j \in \Lambda)$ and $H_{2Q} \neq 0$ are all meromorphic functions of orders that are less than n, setting $\Psi_2(z) = \sum_{i \in \Lambda} H_j(z) e^i$, then $\Psi_2(z) + H_{2Q} e^{2Q} \neq 0$.

3. Proof of Theorem 1.1

Suppose that f is a solution of equation (1.5) with $\rho(f) = \infty$ and $\rho_2(f) = \rho$. Set $w(z) = d_2 f'' + d_1 f' + d_0 f - \varphi$. Since $\rho(\varphi) < \infty$, then by Lemma 2.5, we have $\rho(w) = \rho(g_f) = \rho(f) = \infty$ and $\rho_2(w) = \rho_2(g_f) = \rho_2(f) = \rho$. In order to prove $\overline{\lambda}(g_f - \varphi) = \infty$ and $\overline{\lambda}_2(g_f - \varphi) = \rho$, we need to prove only $\overline{\lambda}(w) = \infty$ and $\overline{\lambda}_2(w) = \rho$. Substituting $g_f = w + \varphi$ into (2.13), we get

$$f = \frac{\alpha_1 w' - \beta_1 w}{h} + \psi, \qquad (3.1)$$

where α_1 , β_1 , h, ψ are defined in (1.8) – (1.11). Substituting (3.1) into equation (1.5), we obtain

$$\frac{\alpha_1}{h}w^{'''} + \phi_2 w^{''} + \phi_1 w^{'} + \phi_0 w$$

= $F - \left(\psi^{''} + A_1(z)\psi^{'} + A_0(z)\psi\right) = A,$ (3.2)

where ϕ_j (j = 0, 1, 2) are meromorphic functions with $\rho(\phi_j) < \infty$ (j = 0, 1, 2). Since $\psi(z)$ is not a solution of (1.5), it follows that $A \neq 0$. Then, by Lemma 2.3 and Lemma 2.4, we obtain $\overline{\lambda}(w) = \lambda(w) = \rho(w) = \infty$, $\overline{\lambda}_2(w) = \lambda_2(w) = \rho_2(w) = \rho$, i.e., $\overline{\lambda}(g_f - \varphi) = \rho(g_f) = \rho(f) = \infty$ and $\overline{\lambda}_2(g_f - \varphi) = \rho_2(g_f) = \rho_2(f) = \rho$.

Remark 3.1. The condition " $\psi(z)$ is not a solution of the equation (1.5)" in Theorem 1.1, is necessary because if $\psi(z)$ is a solution of the equation (1.5), then we have

$$F - \left(\psi^{''} + A_1(z)\,\psi^{'} + A_0(z)\,\psi\right) \equiv 0.$$

4. Proof of Theorem 1.2

By the hypotheses of Theorem 1.2 all solutions of equation (1.5) are of infinite order. From (1.11), we see that $\psi(z)$ is a meromorphic function of finite order, hence $\psi(z)$ is not a solution of (1.5). By Theorem 1.1, we obtain Theorem 1.2.

5. Proof of Theorem 1.3

By Lemma 2.2, we know that equation (1.5) has an infinite order solution f. Then, by Theorem 1.1, g_f satisfies (1.12).

6. Proof of Corollary 1.2

Suppose that $f(z) \neq 0$ is a solution of equation (1.14). Then by Lemma 2.6 we have $\rho(f) = \infty$ and $\rho_2(f) = n$. First we suppose that $d_2 \neq 0$. Set

$$\alpha_1 = d_1 - d_2 A_1 e^P, \quad \alpha_0 = d_0 - d_2 A_0 e^Q, \tag{4.1}$$

$$\beta_1 = d_2 A_1^2 e^{2P} - \left(\left(d_2 A_1 \right)' + P' d_2 A_1 + d_1 A_1 \right) e^P - d_2 A_0 e^Q + d_0 + d_1', \tag{4.2}$$

$$\beta_0 = d_2 A_0 A_1 e^{P+Q} - \left(\left(d_2 A_0 \right)' + Q' d_2 A_0 + d_1 A_0 \right) e^Q + d'_0.$$
(4.3)

$$h = \alpha_1 \beta_0 - \alpha_0 \beta_1 = (d_1 - d_2 A_1 e^P) \left[d_2 A_0 A_1 e^{P+Q} - ((d_2 A_0)' + Q' d_2 A_0 + d_1 A_0) e^Q + d'_0 \right] - (d_0 - d_2 A_0 e^Q) \left[d_2 A_1^2 e^{2P} - ((d_2 A_1)' + P' d_2 A_1 + d_1 A_1) e^P - d_2 A_0 e^Q + d_0 + d'_1 \right].$$

$$(4.4)$$

Now check all the terms of h. Since the term $d_2^2 A_1^2 A_0 e^{2P+Q}$ is eliminated, by (4.4) we can write $h = \Psi_2(z) - d_2^2 A_0^2 e^{2Q}$, where $\Psi_2(z)$ is defined as in Lemma 2.7. By $d_2 \neq 0$, $A_0 \neq 0$ and Lemma 2.7 we see that $h \neq 0$. By Theorem 1.2 the differential polynomial $g_f = d_2 f'' + d_1 f' + d_0 f$ satisfies $\overline{\lambda}(g_f - \varphi) = \rho(g_f) = \rho(f) = \infty$ and $\overline{\lambda}_2(g_f - \varphi) = \rho_2(g_f) = \rho_2(f) = n$.

Now suppose $d_2 \equiv 0$, $d_1 \neq 0$ or $d_2 \equiv 0$, $d_1 \equiv 0$ and $d_0 \neq 0$. Using a similar reasoning to that above we get $\overline{\lambda}(g_f - \varphi) = \rho(g_f) = \rho(f) = \infty$ and $\overline{\lambda}_2(g_f - \varphi) = \rho_2(g_f) = \rho_2(f) = n$.

7. Proof of Theorem 1.4

Suppose that f is a solution of equation (1.15) with $\rho(f) = \infty$ and $\rho_2(f) = \rho$. Set $w = f - \varphi$. Then by $\rho(\varphi) < \infty$, we have $\rho(w) = \rho(f - \varphi) = \rho(f) = \infty$ and $\rho_2(w) = \rho_2(f - \varphi) = \rho_2(f) = \rho$. Substituting $f = w + \varphi$ into equation (1.15), we obtain

$$w^{(k)} + A_{k-1}w^{(k-1)} + \dots + A_1w + A_0w$$

= $F - \left(\varphi^{(k)} + A_{k-1}\varphi^{(k-1)} + \dots + A_1\varphi' + A_0\varphi\right) = W.$ (5.1)

Since φ is not a solution of equation (1.15), we have $W \neq 0$. By Lemma 2.3 and Lemma 2.4, we get $\overline{\lambda}(w) = \overline{\lambda}(f - \varphi) = \rho(w) = \rho(f - \varphi) = \infty$ and $\overline{\lambda}_2(w) = \overline{\lambda}_2(f - \varphi) = \rho_2(w) = \rho_2(f - \varphi) = \rho$, i. e., $\overline{\lambda}(f - \varphi) = \rho(f) = \infty$ and $\overline{\lambda}_2(f - \varphi) = \rho_2(f) = \rho$.

8. Proof of Corollary 1.4

Suppose that $f(z) \neq 0$ is a solution of equation (1.16). Then by Lemma 2.6, we have $\rho(f) = \infty$ and $\rho_2(f) = n$. By using Theorem 1.4, we obtain Corollary 1.4.

Acknowledgments. The authors would like to thank the anonymous referee for his/her careful reading of the manuscript.

References

- B. Belaïdi, Some precise estimates of the hyper order of solutions of some complex linear differential equations, JIPAM. J. Inequal. Pure Appl. Math. 8:4 (2007) Article 107, 14 pp.
- [2] B. Belaïdi, Growth and oscillation theory of solutions of some linear differential equations, Mat. Vesnik 60:4 (2008) 233-246.
- [3] B. Belaïdi and A. El Farissi, Differential polynomials generated by some complex linear differential equations with meromorphic coefficients, Glas. Mat. Ser. III 43(63) (2008), no. 2, 363-373.
- [4] Z. X. Chen, The fixed points and hyper order of solutions of second order complex differential equations, Acta Math. Sci. Ser. A Chin. Ed. 20:3 (2000) 425-432 (in Chinese).
- [5] Z. X. Chen, Zeros of meromorphic solutions of higher order linear differential equations, Analysis 14:4 (1994) 425–438.
- [6] G. Frank and S. Hellerstein, On the meromorphic solutions of nonhomogeneous linear differential equations with polynomial coefficients, Proc. London Math. Soc. 53:3 (1986) 407–428.

Growth and Complex Oscillation of Differential Polynomials

- [7] W. K. Hayman, Meromorphic functions, Oxford Mathematical Monographs Clarendon Press, Oxford 1964.
- [8] L. Kinnunen, Linear differential equations with solutions of finite iterated order, Southeast Asian Bull. Math. 22:4 (1998) 385–405.
- [9] I. Laine, Nevanlinna Theory and Complex Differential Equations, de Gruyter Studies in Mathematics, 15. Walter de Gruyter & Co., Berlin, 1993.
- [10] M. S. Liu and X. M. Zhang, Fixed points of meromorphic solutions of higher order Linear differential equations, Ann. Acad. Sci. Fenn. Math. 31:1 (2006) 191–211.
- [11] R. Nevanlinna, Eindeutige analytische Funktionen, Zweite Auflage. Reprint. Die Grundlehren der mathematischen Wissenschaften, Band 46. Springer-Verlag, Berlin-New York, 1974.
- [12] J. Wang and H. X. Yi, Fixed points and hyper order of differential polynomials generated by solutions of differential equation, Complex Var. Theory Appl. 48:1 (2003) 83–94.
- [13] C. C. Yang and H. X. Yi, Uniqueness theory of meromorphic functions, Mathematics and its Applications, 557. Kluwer Academic Publishers Group, Dordrecht, 2003.
- [14] Q. T. Zhang and C. C. Yang, The Fixed Points and Resolution Theory of Meromorphic Functions, Beijing University Press, Beijing, 1988 (in Chinese).